HOLIDAYS HOMEWORK
CLASS - VIl (ENGLISH)

I
1)) Write one new word daily with their meaning and also frame a sentence
1) Write 20 verb words,10 antonyms, 10 synonyms

IV)  Write these applications:-

) Revise whole syllabus for PT-2 exam
I

(
(
(
(

Sick leave, Urgent piece of work, leave for brother’ s marriage, Full fee concession
and Issuance of transfer certificate ( T.C)

Holidays HW for Social Science

Prepare for PT Il for the following syllabus

1. Tribes, nomads and the settled communities ( History)
2. The devotional path to divine ( History)
3. Women change the world ( Civics)

4. Water ( Geography)
Sub : Science

Holiday homework

1) Prepare for the PT2 exam.

2) Make a project on treatment of water describing each step.
3) Describe elaborately how  forest are living entity.’

4) Describe various types of mirrors and lenses and their application.
CLASS-7TH, SUBJECT- MATHS

Q1..Zerohas ..... Reciprocal.

Q2. Multiplicative identity of is .... ........



Q 3. Represent the following rational numbers on number line:
l. 2.
Q4. Insert 5 rational numbers between 1/3 and 2/3.
Q5. Write the additive inverse of each of following-

(a)4/5 (b)-8/7
Q6. Write the following numbers in standard form- 1) 34500000 2)24567.789
Q7. Which rational number is greater in
Q8. Write four rational number equivalent to .
Q9. Simplify the followings

(i) (i) (

Q10. Divide: (i) 0.058 by 100 (ii) 0.08085 by 0.35
Q11. Simplify

1) 2x(4-x)+3x(x+4) 2) X(x-5)+3x(3+4x)

3) 4(2x-9) 4) 4x(8x-6)+6

Q12. Find value of expression at x=2

1) 2x(5x-20) 2)  4x(5+7x)

Q13. Find the perimeter and area of a square of side 14cm.

Q14. Find the perimeter and area of a rectangle of length 12cm and breadth 10cm.
Q15. Find the circumference of a circle of radius 8cm.

Q16. Find the area of a circle of radius 12cm.

Q17. If the radius of a circle is 25cm, what will be its diameter?

Q18. If the diameter of a circle is 24cm, what will be its radius ?

Q19. Ramesh has taken 5 rounds of a circular park of diameter 12cm, how much
distance he has covered ?

Q20. The perimeter of a rectangular park is 260m, if its length is 25cm . what will be its
breadth and area.

Solve the questions and examples of chapter 7 to 11.1 in a separate notebook



Fel - Giadi  fawa- &y

SNTehTeleT JraehTer g

- faefaf@a sreey esel & ey & fafge |

AT, 9T, faemer |

2- T & Y yHRT & gra-ura 3ereor i@ |

3- STel-HETHRA e & &l Uol o1 Fidfee 3reade ¥ |

4- gt S 3T HRer Iaa §Ua’r%t—rré€3aaasrar$%mmﬁmqsr
forar |

5-  fordll T fawy WX 150 rse) H 3efeoe faf@u-

1) BT Ed

2) EETS HRA AT

6- I HET-2 & G Urdt & eregy Ig HIfAT |

7-39 fAT & 38% oA ol W gurs g7 faf@u
8-Ucdeh 16 A Ush Usl g faf@u]

9-FHd HE-2 & FHeT WS & FHW Hiddl & Hid IR=F faf@w|

10- 39T FAUHC s ar RAeve Fgraal @]

ANcTehTollel 3R I[EhIAH 10 -39

FeTl- oA faw: - gFpan

URE: 1) Y& IS afScar JRaAm 3afor forgd-



Wed HYAT AT TER FIgET 3RAMecl: T ATATROTH 3HEA| HAleTdl: TRER o
fagafeal IRET F¢ TWHRT F5¢ F TR | JT T FHAT: AT IGAATT
e, it 39eTeTd Fedafed, AW 3UR T F8fcd TUTOATed | HER T
faeawey, ergar: R o #1a=r gead| Sl faehra: 3T Jrasey: Hafd|

| ThUesT 3aid---

(&) HIH TP HATCH: HATT 2 ceeveeeeeenreremrenrerrenenns
(@) FRER o @EATA? e,

Il Ut 3
(1) @#HAT: SQM: o Fdfod?

Il TAERATEROT 3Tl
(o) “HTAT: TRER & faeadiod” IJTEA ey ohe] / HellUg Tehe ?

(@) “fAfe TER FlgET 3ATA: T aTdTaiorE IFed ” AT I fhamae
BT 2o,
URE: 2) Y USRI IfScdT FRaATAT 3evifor forgd-

o NG & T USTER , o AT T ARPIR |
& $d g8d Ud e |, faegmus aaussee | |
. ThucsT 3aX for@a-
1) - fae@r $Hgyr o= 3T ?
2)-28d d f adad wa ?

.U 3R ferEd-

1.9eqIe=Eg & & UM Fied ?

. TATAGET 3d-
1)- a9 3fd fhamesy f& que ?
(i) s@A(ii) & (i) A (iv) e
2) - 3ffac sfa ggeg faeisue facar fowa -
(i) aga (i) &eT (i) wa( iv) faear

T 3) J@ifehelliel YTl MEYcT TRATAATTT el |



(&) fRretr G aratT= Hifore: 31TOFR: |

(@) ATl caRACHTIT |
(IT)TIEhIT: 1S 3T 7T |
(&) T a8eid HHA gEH AR |

UeT: 4). {WIThdTTvelel @MeT forad -
(1) QeThT: HEYR A |

(2) 378 GEdRIAS Gl ATFANH |

(3) AU YAOT gdied |
2sT: 5). SISSehIc 3Td Ug Kicar Rerdeureis @ad--

(F) oo, SToleh: HER AT | (UhHA , TH ,TH: )
(@) v, iVl HYGHATOI Hdfed | (TFedR: AT e )
() IEH TETPH oo | (3YSH 39S , YSIH )

L)
() EIELH. oo (@) T = e
@) ATAT- e, () FERARATTH oo
@) TR™WA: s (@) TR e

YeT: 7) GHTATYSHYUCIA Herdd -

(1) 3MRTHUT = UOTTT oot eeeeeeeees e ee e eseseseaees

(2) FEATHT = THT:  ceoeeeeeeeeeeeeeeeeereeee eeeeeeeeeeseseseeesesesens



eeT: 8). Ao TohaTaeriel fRicar Rerdeum=iia ad-

(Freafa gfasafa |, afasafa , 3erad )
(1)  @reage: df AfRTRRT FHY s
(2) ST GETATET oo |
(3) T ST TR .o |
AR rc: F:1 r= SO |

T Tehddeld] ACEEGL SgddeTH
TYHAYEY: gfesafd s e,
£2022 15 02 H FfersaeT:
FAALET: s s TS
TaT: 10) UfIfadeT geren folor |, AfFas |, aos 7 for@a --
geifal ISEIC: | ICEICTSH CECE )
($) m ................................................
(E') jﬂﬂﬁﬁ;ﬂ:ﬁ: ..................................................
(3T) a;.g_g: ................................................
(a’) a'ﬂ' ................................................

T 11). FISSehaTarerecy 3fad fasrferd AerRicar Rerdeue o -

[ R aRd: gawm: |fed | (Im#)




) IR T | (37U )

TR 12 ) JEHRYAET HHETH ‘T IREUHYTET FHET =" 3 fore -
(o) faem Tr&oTe a7%: A | ( )
(@) fa&emRTHs fdean setere: 7 #afd | ( )

(1) Tacafagier: fagare #afa | ( )

UReT: 13 ) HHRIAHS hear forEd -
(F ) (@)
() =TF $d a9d g e - fdear @ &adr |
(i)  Toear St fageETHEs - O AT Y |
(i) foeam 1A RET FT AOH - &7 olehll HYS:|
(iv) & &I o oo o $gA - oz gauavae |

3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k %k %k %k %k >k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 5k 3%k 3k %k %k %k %k >k 3k 3k >k 3k 3k 3k 3k 3k 3k 3k 3k 5k 3 3%k 3%k %k %k %k %k %k %k %k %k %k %k %k sk sk sk sk kkkkkkkkk

%k %k 3k 3k %k %k %k %k %k %k %k %k %k %k %k >k >k >k >k %k %k %k %k %k *



